POLE STAR PUBLIC SCHOOL

Sector-7 (Extn.) Gurugram (HR.)

PS

WINTER HOLIDAY’S HOMEWORK

SESSION: 2024-2025
CLASS - VIl

Winter vacation is a time to relax and celebrate the time in the company of your family,
friends and celebrate New Year with your family. During the winter season, everyone
enjoys sweets, cakes, and delicious dishes made by your mother.

Please take note of the following suggestions:

» Encourage your child to converse in English.

» Encourage your child to watch informative program on television.

» Help them revise all the concepts done so far.

> Parents are requested to only guide their children while doing their Sample Paper.
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POLE STAR PUBLIC SCHOOL

SECTOR-7 EXTN.GURUGRAM, HARYANA
Class- VIII SAMPLE PAPER (2024-2025) Subject- English
M.M- 80 Time-3 Hours

GENERAL INSTRUCTIONS
» This paper is divided into three sections: A, B and C. All questions are compulsory.
» Separate instructions are given with each section and question wherever necessary. Read
these instructions very carefully and follow them.
> Do not exceed the prescribed word limit while answering the questions.

SECTION- A (READING)

1. Read the passage below and answer the questions that follows. (12)
Mount Everest, standing tall at 8,848 meters above sea level, is the highest peak in the world.
Located in the Himalayas, on the border between Nepal and Tibet, it has been a fascination for
adventurers and climbers since its first summit in 1953 by Sir Edmund Hillary and Tenzing
Norgay. The mountain is known as “Chomolungma” in Tibetan, meaning “Goddess Mother of
the World,” reflecting its awe-inspiring presence and spiritual significance to the local Sherpa
people.

Despite its allure, conquering Everest is an extreme challenge. The treacherous conditions,
including freezing temperatures, thin air, and unpredictable weather, have claimed many lives
over the years. Climbers face not only physical but also mental challenges as they ascend
through different climate zones, battling altitude sickness and exhaustion.

The allure of Everest extends beyond climbers. It serves as a crucial source of income for
Nepal, with thousands of tourists visiting the region annually to trek to base camp or simply to
catch a glimpse of the awe-inspiring peak. However, this influx of visitors also poses
environmental challenges, with concerns about litter, waste disposal, and the impact of human
presence on the delicate ecosystem of the Himalayas.

a) Where is Mount Everest located?

b) What is the local Tibetan name for Mount Everest, and what does it mean?

c) Who were the first climbers to summit Mount Everest?

d) What are some challenges that climbers face while attempting to climb Everest?
e) How does Mount Everest contribute to the economy of Nepal?

f) What are some environmental concerns related to tourism around Mount Everest?

2. Read the poem carefully and answer the following: (8)
A friend is one who stands to share
Your every touch of grief and care
He comes by chance, but stays by choice
Your praises he is quick to voice.
No grievous fault or passing whim
Can make an enemy of him
And though your need be great or small
His strength is yours throughout it all.
No matter where your path may turn
Your welfare is his chief concern
No matter what your dream may be
He prays your triumph soon to see.
There is no wish your tongue can tell
But what is your friend’s as well
The life of him who has a friend
Is double-guarded to the end.
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i) Fill in the blanks:

A true friend is someone who (a) our joys and sorrows. We find such friends

only by (b) but it is up to us how long they stay our friends. True friends

ignore our (c) and whims and prove to be our strength in times of need. No

matter where we go in life, they are always (d) about our welfare. They

always pray that our dreams may come true and that we may (e)

Whatever we wish to happen, they (f) it, too. Such friends make us feel

doubly (g) throughout our life.
ii) Give a suitable title to the poem.

SECTION - B (WRITING & GRAMMAR )

3. Write a diary entry on meeting an old friend.

()

4. Write a letter to your friend describing the winter season in a hill station you visited in about 120

words.
5. Complete the story with an outline given:
You were sleeping in your room. You heard some strange noise. And suddenly...
6. Fill in the blanks with the correct form of the verbs given in the brackets:
a) The police four thieves last night. (catch)
b) It since 9 o’clock. (rain)
c) Mahesh tomorrow from Patna. (come)
d) I was food when he came in. (cook)
e) Water on heating. (evaporate)
f) Stars in the sky at night. (twinkle)
7.Fill in the blanks with appropriate Modals:
a) You (shall/will) not be permitted to stay here.
b) He (might/would) come today.
c) | don’t think the paper (will/shall) be very difficult.
d) She (might/would) have left her purse in the bus.
8.Fill in the blanks with ‘within’, ‘in’, ‘on’, ‘into’, ‘at’, ‘on’ :-
a) The lion was sitting his den.
b) Can you read what is written------------- this label?
c) The puppy climbed my knee while | was sleeping.
d) The ceremony will take place Hotel Awadh Clarke.
9.Fill in the blanks with appropriate conjunction:
a) Youshould  upload your photograph__ send us a digital image.
b) Rubina is a talented musician a good photographer.
c) Mohit ate toast and egg Sunil had cucumber sandwiches.
d) The new app is user-friendly useful.
10.Change the following sentences into Indirect Speech:
a) She said to me, “I never saw an octopus before”.
b) He said, “Rohit has a cute puppy”.
c) They said, “The boys will swim tomorrow”.
d) | said to him, “Keep your material at proper place”.
SECTION - C(LITERATURE)

11.Give the meanings and make sentences :-regret, sparse, legend, slightest.
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12.Read the following extract and answer the following questions: (6)

Did he never hear from his own mother stories of giants and fairies and princesses?
Has he forgotten them all?
Often when he gets late for his bath, you have to call him a hundred times.

a) Why the child is not happy with his father?
b) What does the child’s father forget?
c) Name and the poet and poem.

13. Answer the following in 30-35 words only: (3x4=12)
a) The traveller stood ‘perplexed and still’. Give a reason.
b) Pick lines from the text that prove the fact that Claudius was a hardworking and determined
sportsman.
c) With no pen available at his time, what tool did the great writer use to write?
d) Bring out the shocking connection between the death of Mr. Wall and the patch on the wall.

14. Do you agree that the king was semi- barbaric? Why? (5)

15. List some of the significant initiatives that Jim took to conserve India’s wildlife. (5)
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e TR UfRId 3o d gaex 7
YRS &I (gfeamom)
&l - 3Todl fO=ara afiam (2024-2025) vy - 'S
Fel 3% - 80 AT : 3 U
g fader:
> @Y weaY & 3T & FfAE B

> wgmamml

(@3 - F) (3rafsd- rem)

1. et # eaeqEs TeRT HEl 3w g farae- 1x5=5
HRA TAGRT &1 &2 & | T8l @R R 3TeIfeRr T Y 3ael 3c8d AT ABR & §7 A
HART ST & | STAI0T 3R # AAT SAeiarel Hi¥ - gaf 7 dierer 7 AT HAged § |
g H Tl T BheT dheel 1 Gt # dlarel &l IR HAIT STl § | GiTel STefa’y
A & H HART ST § | Ig AfAS Holst & IR g AHS HIE I TUAT I HAIT
ST & | I8 I & 3T H gl &7 Faoh § | AT S & 76 38 &7 @ ¥ s @
T 3R fem 7 3R S 91T § | 9ot & uger &7 et St Fgalrar § |

() dieTer foRE ST T cAER & ?

(i) aTer (ii) T#eraTg (iii) Pl (iv) TeATTer wcer
(@) dieTer The AGT H FHATIT ST & ?

(i) STeTasr (i) AT (iii) TadeR (iv) TRaE
(a1) GieTer TS HelsT & AR ............. ATHS ATH $F HAATIT ST g |

(i) ool (i) a5 (iii) o (iv) ARl
(enGterer & feo TF AT @r 4 fohe fgem & 3R S oferem § ?

(i)afaror (i) @ (iii)3R (iv) afas
(3) 9Tl & Ugel [T T FAT FEd 87

(i) gierer (i) Srefr (iii)yATEE GiaTer (iv) PRITPS
2. i@ gl F LATYEF IEHF ) 3T oA faf@e- (1x5=5)

ST 37yar g O HieT & Toees ofer o e g grie o @A gt &1 IS AT & AT A
T o g1 ol 98 T H gIY STelehl 3Tel Y STell ofcT| T & T8 T & I HHA el & ot
A€ Rl 3R & ¢TA § % 5 5T & FROT 9gd A oo & e o 7l R 1|
3¢ el A& 3T o9 Gl & foF IS 37 A & g0 o &g &1 IS q@r Aw o & F &
R A gAAT & [T Gl &1 FS ool 38 b FASA & R F e | BT FEr 3N arelT
1 hafell e gr? FEIarT ol =il IRUET W Fel=ll 3T FHASA § oifehed 0T 3l &
faerer &1 TEAT T ST §1 T o ST § 6 WY N9 Tg T SAT &1 §L HTST T
e § o a8 for fohedll Sisars & qRiaTa Shael ST STa aarer ar 30 g wihiaes
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3M9eT T & o 8H @d € T $© o1 THHIRE T § 9 S §| Ig = arell His
35T fFd § S & el & Ay FE1 7 F fAggAT g, 38& W & i ST A8 ol

(%) SN & PROT Tgd § oI Sh FIA FAT 76T P I1A?

i) 3¢ IF N @ § T A 3% FH A 7 A FF &

i) 3¢ dIC S &I 87T @ &l

iii) 3R ST o &1 dF AT G FH F A G fgaeher|

iv) Ar-foaRet F1 FA T TG BrIS 2

(@) T gRUE R delel d FA7 giar g2

(
(
(
(

(i) o7 FEETET FEerd g (ii) T T TEAT FF ST &
(iii) ot gfereT Shaet S gl (iv) ST AGT 91T &l
@) I H Fg IfFd fFE YR ST F1ar 87
(i) 30 T HT dAPT 3T B (i) g 3qRT AP 38 FarT Bl
(iii)  $TITATeT T ATH TFIOT HIAT BT ¢ (iv) % ST STeidT &
(F) 3T 37UaT 7T & FIAT oA g7
() @6 U A A& FT B (i) 38 IRAIN® Herar gl
(i) AT AT ATSHR FIAT ¢ (iv) TATST H 9faSaT 91 gl
(3) P YT UG FTAT TATAT g7
(i) 31 cafed (i) @Tedr safed (iii)y 3Ty cfPd (iv) a9
3. farafaf@a weat & @l 3 a Rwew giav (5)
(@) farema s @7 3R ge I Ay @ ghR gAv|
(i) §gFd aFg ORGERCIER] (iii) Tl aTFg MEBIGECIED]
(@) 3if# BR % Tgad & T a gohst & fasterd g1 g ATl a1 JHR AT |
(i) g arerg RCERIER) (iii) T arFg (iv) 3T 3uarey
(a1) AT arerT T 3eEROT AT
(i) A g5 IR T§ Tl TS| (ii) foraepT T 177 AT IEY E3MI

(iii) AT Th GIEd 39eh TS FI AT g1 (iv) TR H Sigel BId g gelaik aur glel
T3t
(7) ARAT A 0 § 5 IS 30T SR 161 A ohdT| 3T T arFT giem-
) AR AfAe T § 3R FIS 3ART sRIERT 18T A TqehdT|
i) ST AR AR § 37T PIg SIS 1] P ThdT|
iii) AR AfAT Fr HIS AT FAGT P TAhdT|
iv) 08 § URAT dfAs AT g 3ahT SR AGr d GohdT|
(3) 96 T FEA BT &l JA 3HA YA R I§ A| TIFd T g
i) 98 e FEA BT &, A A IAT W F A
ii) 9E Q&P IS § FATAT JH IR IIAT X e
iii) 9% Y 3T g, Ty gH g #X @ U
iv) 397 q FIS

(
(
(
(

(
(
(
(
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4 farafaf@a weat & @@ 3 a Rwew giav (5)
() IMOIT T HATST §f AT W AT - - - - §| 39T HgTR ¥ Rebed T AT Ificd e
(i) IR & PR T (i) 3MEAT BT W 3oET (i) S0 g1 & W (iv) 3@ @
(@REYT & 3T FAT H P —--31 78 Ao 3ugFd HeraX & R T &1 gfd A -
()arg e arelr (i) TERT St aTell (ili)ygee] 8 U= o aTell  (iv)G3T HIITel aTell
(MFREANT e 7 AR At F geAat & ald "ee W RBu I@ifhd Agray & 37 ¢ -

()T fea@rar (ii)g_T ST (iii)erdr 3Tl (iv)ordr drear
(&) 'TE AT HTaR H FEl 3 dlel- @7 g2
(i) R HTAAT (ii) shIferT gl (iii) Tk & 9Td IR-TR Hgall  (iv) ATTHAS g

(3) 93 TS HIgH I TUAISNT T HASAT A TAT—----AT| 3G HETR ¥ Rebed T AT ik
FfaT|

(i) g & ToT AT (i) 37 & g F oAIAT
(iii) 3T &Tel &1 #1d HATC[H Blel (iv) ©¥eT Hg §81 &1
537 & YR W q&T & Ag IdB8T:- (5)

() "HS 3HTST STEX GHA HT HAA g1 T ¢ ' Tg arg Tohd JehR ol a1 § -

(i) 3T argeh areg (i) Hohd ardeh a1y (i) 3ToT arae aey (iv) ATAarfearts aeg
(@) T a1l H Heg / HHIGAT T S giar § ' gl 3 Fr gfte @ @A A1 g A giar ©

(i) Tcg arash arFyg (i) Hohd drdeh ared (i) SToT ardeh aad (iv) AeAafcarys aeg
@) T 97 forg W g1 ' 57 ag A FY & YR W T HT diel T aFg A § 2

(i) TaeneT araeh are g (i) dog arde aeg (i) IT arae arFd (iv) 3T ardeh ared
(&) '9gd gred qF &1 ' 39 Ay A ' fqTHY g | 9Fg H ded W fAf@e -

(i) emae §gd el 527 B (ii) T FreX 32T B
(iii) aTg | fheeTT graX goF Bl (iv) Sgd Frex 3T I &

(3)- ' HIGY A HH H T ' 3H aF H 364F 3R 97 wic a faf@v -
(i)3eeRT - &# T forar , fa9F - Aoiql o (i) 3682 - Ao o , fa97 - & & forar

(iii) 368RT - Aol o , 9T - A (iv) 3aged - fomm, 9y - Aoy &
6. 39N T IR BT 7T weaAl F 3w ¥ FFew gaaw _RAw- (4)
() "TUR e R 3uweT & e g3 82
(i) =X (i) =RT (iii) foRT (iv) i
(@) 'IRader Ase foha IUwN T AT I 872
(i) v (i) W (iii) IR (iv) T
(1) ‘U Ase  FohE 3UWI T T EI;T §?
(i) 39 (i) 3 (iii) 3@ (iv) 319
() 'GedagR’ Use T 3w T AT g3 872
(i) g (i) g (iii) g¥ (iv) ga
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7. farafaf@a s #F ggat A Re et & 3@ dfew: (5)
3759 A 3T ArIET U RAT AR EH hel & SEAASIG T IV [T H g ST 9T I@T
o1, Fifeh Hol Gor a1 T arferars e ﬁawaﬁéﬁgléﬁmmgm%mwaw
€ §HT| & STAANTG H e F Teh ged & AU SeX §U &1 IE U YaaRd e 1 Fgl
9393 97l 3R Wk gAY wsF §, kT Tgl a7 Al g G o A T A
3eq §H olich TaEAT of aTT T AT Fard A 87 ST foved o7 FfoIad g, AAfehed ATH 180
foh ag FEper IE o T A7 AL
ek faRAT & Aot 3sq o Ush ¢ UTH T S1d | 3H ATH o IdT foh 3HHN dTeol
Higese Toldl & 8 ST6T WX Bl TR0 Y& g 147 § “H &) 9N BIsH Jg1 31T §'1 36
aerd # 31eq 3 3T i 3wl H 3y cW|
(F)SEATHATEIG, 3T AT HATAT P 3 FAT 9T T@T AT?

(T) EATAIG 3 T8 Pl 3g¥ A?

(31) FATAT & STATHTEG 3R Fard H Fa1 B e@rs feam?
(7) <rer fozar &ar g2

(3) 39 3R 3T Fr @ F 3y F4 A?

8. A=faf@a weat F 3w dfaw:- (12)
(&) Helloll Thol ST AT AT ST TG A2
(@) oer faTae &1 gendae F4 wd 42
(31) FSerER 3fe & e 3ThIT Yehe T b ST & aIAd HLdr 87
() S T SR T 3 A AT Ak FoAls MS? A[@rady o AT TR A forn?
(3) T=T A 3R MR FT A1er fova aIRTTATIIT F grar g2
(T) A P 3YAT TEAT I8 H FeA-fveT Femt 3tk wieagat 1 arear F&r gsr?
(T)3laeX 3EETe  fRIgTe a1 o &1 forar?

9. fmafaf@a ur weat & 3R dfSw (Fur )

(@) Sl §geil T a1 oA SN & Ad AA H F7 faar 3man?

(@) I o A & FHA A9 Siiaed 7 o foha g fhar?
(31) STSAT P 37T ST & IS W Pl TRAT gl 3TA I T FIT AT 2
() Tgell SR 8 SN & gdell & Tl st AR Fferd & @Y HaT 7R g3 AR 2412
(3) o GH o AIRAT & T ®do FAT AR?
(
(

o

) FAftsty o RAT weue & uge &1 fhar?
) $a 3R TS A AT A fhael a) AR Hla-hler d qdemd «F

10. fr=faf@a weal #t ggav AT e v fAwedt & & @& AFer gaa 33 [/f@T- (5)
(i) JGH & ITAR el HSC T e gl Al §7?
(ST eIt T JGTRIT BRT (W) SI& hadl 3eal dldl T fgared IGT, ST 9/@r @ gl
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(@) S et eanrT fgFAd 3R 6d &of Fr gear Irg I
(7) S HFSeaR & Ifd 3Thier sgad Hld |
(i) oGH o JIFAGT H 9 IBAX I AR G FAT Ah?

(%) oTTH FT I JBAR THY ¢ (@) JEgeh @Y 38aT 9T RAT 27|

(31) AWH P HEIT W 4T AT (&) 3B H HAR HaT R
(iii) IR AR aLer 2 g2

() U STeI9Er gf3ent

(@) TAICT ST AT T Teholol

(31) FTETSTE & HiAAT & IRET T THAT3N S Feheld]
() FIRcTSRT & Sded g TATHT HT eholsl
(iv) 3T 3aTel el F4T IT?
(&) HHT F fow (@) gy ot @M T & Foer CIGIETUETG
(v) 3T 3EmETe 3R 3% @7 Fid geaes & v g 3m#afEa #& & w?

() PR ST (@) dfsd SRE g IgEE (1) I e (&) ST GT2RE

1. fafaf@a & & &l & vy w Ru av w&a Rigat & amam o3 aemrer 100 st &
Ireoe fafaw) (5)
(&) FETRIGUT Ueh HIATISh &lidcd &
+G&TRIOT T Y HAged »JeTfdgiel el &l &9 +GSURUTTH
(@) Telliees HT gfaar
(1) qEdHTeT F RIserar
+HIST 3 AT «TETHT F BSOS G +3ATH o1eT A
rgar
g9 H 379 1Y Hsdel o 379g cIagR fhar | ciaSckd{é?cqqsl{@er\Ia?rqHaﬂﬁgU
qRAg & HEIIGYH o ATH o91e7eT 100 ¢reai & Ush ga farf@ul
12. g2t 7 5 g Goaq=A & TIU ofarsmT 60 Asal H AT IR HITSIT | (5)
rgar
HRT TR AT 3R A STel TETUT AT PRl 8 Teh AT of9me79T 60 Teef H IR
ST
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13. 9 & Q@ & W 32T &l Fouall ATFd & @19 100 Asal H goTed Hiforw fG=art s
guid TOse & & 7 & & T9y g aigu| (5)

14 &1 NTAT T Helreplal fhdll g 7§ & faredl @ g1 Sirell 8, 39 &1 &1 $Har? 56
TaTe, T 9TeTeT 100 ersar 7 faf@w| (5)
FYdar
i H 39! Teh DT g<dT Al § S 379« A9 & 9oz a7 §1 399 39 a1 91 g
FET? SH FAIG P 98791 100 reer # fof@u|
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POLE STAR PUBLIC SCHOOL
SECTOR-7 EXTN.GURUGRAM, HARYANA
Class: VI SAMPLE PAPER (2024-2025) Subject: Maths
M.M : 80 Time : 3Hours
GENERAL INSTRUCTIONS:
> All questions are compulsory.
> Write the serial number of question before attempting.
> Revise the paper before submitting.

SECTION —A[ 1 MARKS EACH ]

1. The value of x for 3x-9= 12 is

a) 6 b) 7 c)8 d) 9
2. The equation 4x -8 +a = bx -1 has a unique solution

a) for allaand b b) if a#7 c) if b#4 d)ifb#0
3. X is 75% of y. The percentage of y to x is

a) 133:% b) 125% c) 25% d)33 2%
4. What is the value of x and y if 2—10: %: y%.

a)5 b) 10 c) 15 d) 20
5. Express 13% as a decimal.

a) 0.013 b) 0.13 c)1.3 d) 1.03

6.Given two quantities x and y. If an increase in x cause a proportionate decrease in y such that
their product remain constant then x and y are said to be

a) Independent b) Directly related c) Inversely related d) None of these
7. Which of these quantities does not vary inversely?

a) Speed and distance

b) Number of person and time taken to finish the work

c) Speed and time

d) Number of boys and number of days the food lasts
8. C.l. and S.I. for one year are

a) Not equal b) Equal c)C.l.>S.l. d)C.l.<S..
9. A sum of Rs. 1000 is lent for 1 year at the rate of 7% p.a. What will be the amount?
a) 1000 rs b) 1050 rs c) 1070 rs d) 2000 rs
10. If cost of pencils is Rs. 96 per dozen then cost of 5 pencils will be
a) 20 b) 40 c) 60 d) 80
11. Afigure is an equiangular parallelogram if and only if it is a
a) Rectangle b) Regular polygon c) Rhombus d) None of these
12. If 5 men can build a wall in 12 days, how many men can build it in 10 days?
a)8 b) 4 c)7 d) 6
13. A cylinder has faces.
a)3 b) 4 c)5 d) 6
14.The ratio of the areas of a square to that of a square drawn on its diagonal is
a)ll b) 1:2 c) 1:3 d) 1:4
15. Volume of a cube whose edge is 2x is
a) 8x3 b) 4x3 c) 3x3 d) 2x3
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16. The perimeter of side of a square of side x m is

a) 3x b) 2x C) 4x d) 8x
17.A triangle has element.

a) six b) four c) three d) two
18. What is the measure of the angle opposite to hypotenuse?

a) 60° b) 90° c) 45° d) 120°

In the following question, a statement of Assertion (A) is followed by a statement of Reason (R).
Choose the correct option from the following option:

a) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

b) Both Assertion and Reason are true and Reason is not the correct explanation of Assertion.
c) Assertion is true but Reason is false.

d) Assertion is false but Reason is true.

19. Assertion: Area of a rectangle = length x breadth
Reason: Area is the space occupied by a closed figure.

20. Assertion: The number of sides of a quadrilateral is 4.
Reason: In geometry a quadrilateral is 4 sided polygon having four edge and four corner

SECTION -B [ 2 MARKS EACH ]

21. The length of rectangle is 8cm more than its width. If the perimeter of rectangle is 44cm. Find
the length and breadth of the rectangle.

22. A shopkeeper buys 5 fans for ¥ 4050. He spends % 50 on transportation. He sells them at a gain of 15%.
Find the selling price of a fan.

23. Saba deposited Rs.12,000 in a bank for 3 years which pays 6% interest per year. Find the
compound interest and amount.

24. 5 teachers can correct 500 examination papers in 1 week. How many teachers would be employed to
correct 1500 papers in the same time?

25. 8 taps having the same rate of flow, fill a tank in 27 minutes. If two taps go out of order, how long will the
remaining taps take to fill the tank?

SECTION- C [ 3 MARKS EACH |

26. Solve and find value of x : 7x4_1 — %(2 X — 1;—x) =4

27. A trader marks his goods 20% above the cost price. He sells them at a discount of 20%. If the
cost price is ¥ 1100, what is his gain or loss per cent?28.How long will it take for 3500 to
become %3850 if the interest is charged at the rate of 2% per annum?

28.In an auditorium, 300 tickets were sold. The total sale of tickets was ¥1250. If the tickets were

of

two denominations of ¥ 2.50 and ¥ 5.00. How many of each denomination were sold?

29. Amna purchased biscuits for % 80, the rate of VAT being 5%. She also bought tined food for
% 60 on which rate of VAT is 8%. She gives a 100 rupee note to the shopkeeper. Find the
balance amount returned to her.

30. Find the time if Rs. 8000 lent at C.I. at 20% amount to Rs. 8820; the interest being

compounded quarterly.
31.Given that x varies inversely as y when x= 3, y=30. Find
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1) y when x= 2 i) X when y=10
SECTION =D [ 5 MARKS EACH |
32. Golu lent polu Rs. 32,500 to purchase a bike at 12.5% per annum. If the interest is
compounded semi annually, find the interest paid by Polu after 1 %years.

33. Two trains 350m and 250m long are going at 42 km/hr and 30 km/hr respectively in opposite
direction. How long would it take them to pass each other?
34. There are 1800 creatures in a Zoo as per list given below:

Beast animal | Other land | Birds Water Reptile
animal animal
300 800 350 250 100

Represent the above data using a pie charts.

35. The perimeter of a triangle is 288m and the ratio of the sides is 3: 4: 5. Find the area of
triangle

SECTION — E CASE STUDY[ 4 MARKS EACH |

36. The pie chart given here gives the expenditure on various items and savings of a family
during a month.

Answer the following :

I. Expenditure is maximum on

[I. The item on which expenditure is equal to the total saving of the family is .

[I. If the monthly saving of the family is Rs. 3000, then the monthly expenditure on clothes is

37. A quadrilateral ABCD is given in the following figure:

Answer the following:
I. Find the area of triangle ABC.
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Il. Find the area of triangle ACD.
[ll. Find the area of ABCD.

38.0bserve the figure and answer the following:

I. Name the figure.

[I. How many vertices it has?
[ll. How many edges it has?
IV. Verify the Euler’s Formula.
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POLE STAR PUBLIC SCHOOL
SECTOR-7 EXTN.GURUGRAM, HARYANA
Class: VI SAMPLE PAPER (2024-2025) Subject: Science

M.M : 80 Time : 3Hours
GENERAL INSTRUCTIONS:

> All questions are compulsory.

> Write the serial number of question before attempting.

> Revise the paper before submitting.

Tick (V) the correct answer in each of the following.
1. Which of these our usual science of puberty?
(i) A growth spurt (i) A change in voice  (iii)) Acne and increased sweating (iv) All of these
2. Which of these is a reproductive process shown in Hydra?
(i) Budding (i) Binary fission (iii) Through eggs  (iv) By giving birth to babies
3. The Sl unit of force is
(i) metres per second (i) Newton (iii) Pascal (iv) Newton per meter
4. Rubber suckers stick to a smooth surface because of
(i) the temperature of the smooth surface. (ii) moisture
(iii) atmospheric pressure (iv) small holes in the rubber sucker that allow air to pass through

5. An electrolyte is a /an

(i) electrode (ii) liquid that conducts electricity
(iii) cell that produces electricity (iv) positively charged ions
6. Plate tectonics is a theory about
(i) charges (ii) lightning
(iii) structure of the surface of the earth (iv) structure of the inner core of the earth

7.The left- right reversal of a image formed by a plane mirror is called

(i) convergence (i) lateral inversion (iii) inverted image (iv) diminished image
8. Crecent and first quarter are

(i) phases of the moon (ii) satellite of Mars  (iii) stars of the Milky Way (iv) constellations
9. For the same pitch, a louder sound would have

(i) greater amplitude (ii) greater frequency (iii) lower amplitude (iv) lower frequency
10. In humans, the vocal folds are present in the

(i) neck (ii) ear (iii) mouth (iv) nose

11.Which of these would produce a diffused reflection ?

(i) A mirror (i) A sheet of glass (iif) A new steel plate (iv) Arough wall
12. During electrolysis,

(i) a chemical reaction take place at the anode and the cathode
(i) anions and cations move towards the anode and cathode, respectively
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(iiif) an electric current pass through the electrolyte
(iv) all of the above

13. Atmospheric pressure acts

(i) upwards (i) downwards (iii) east to west (iv) in all directions
14. Ball bearings are used to

(i) give a streamlined shape (ii) increase grip (iii) increase drag  (iv) reduce friction

15. In order to cut through a material easily. The edge of a knife should have

(i) a large area (i) a rough surface (iii) ball bearings (iv) a very small area
16. Which of these star is closest to the Earth ?
(i) Alpha Centauri (ii) Alpha Ori (iii) The Sun (iv) The Moon
SECTION-B
Case study

17. All vibrations can produce waves. However, our ears are sensitive only to a very small portion
of these vibrations that fall in a certain frequency range called the audible frequency range.
The audible frequency range is 20Hz to 20,000 Hz for human beings.

Answer the following questions:
(i) Which of the vibrations above will not produce sounds that we can hear ?
(i) Elephants communicate using infrasonic frequencies, what frequency range would that be?

18. Define adolescence. Name two hormones that bring about changes in adolescence in girls.
19. What are gametes? Name the male gamete and female gamete.
20. Write two disadvantages of friction.
21. How does the pressure in a liquid vary with depth?
OR

What is the approximate value of atmospheric pressure on the surface of the Earth at sea
level?

Name the instrument used to measure atmospheric pressure.
22. List two application of electroplating.
23.What is earthing? Why is earthing important to us?
24. Explain dispersion with the help of diagram of a prism.
25. Lis two steps by which we can save ourselves being struck from lightning during thunderstorm.

SECTION -C

26. State the laws of reflection. Explain with diagram.
27. Define : a) Diffused reflection b) Multiple reflection c¢) Nutrition and eye health
28. Give reasons for the following.
(a) Needles have a sharp point.
(b) Presence of salt in water increases conductivity.
(c) Sound cannot travel in vacuum.
29. Give one word for the following:

(a) Height above sea level.

(b) Instrument used to measure force.

(c) The process of fusion of male and female gamete to produce new organism.
(d) The chemical substances secreted by the glands.

(e) Name of a constellation.

(f) Name of an artificial satellite.
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30.Give a brief description of how sound propagates from vibrating membrane of a drum to our
ears.

31. Describe the stepwise process of fertilization in human beings.

32. (a) What is reproduction ?
(b) Explain and name the asexual reproduction in amoeba and hydra.

33. Give two examples for the following:
(a) Name of two defects of eye.
(b) Name two methods of charging electrically neutral objects.
(c) Name of two percussion instruments.
SECTION -D

34. With the help of labelled diagram ,explain the process of electrorefining.
OR
Suggest four ways by which we can reduce noise pollution.
35. Label the diagram of structure of human eye with the help of following words:
Retina, optic nerve, cornea, pupil, aqueous humour, vitreous humour , lens,iris.
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Multiple Choice Questions (1x20=20)

1. Who founded the Asiatic Society of Bengal?
(a) William Jones (b) Henry Thomas  (c) Charles Wood (d) James Mill
2. For Gandhiji, education meant training of both
(a) body and brain (b) heart and body (c) mind and body (d) brain and heart
3. Raja Rammohan Roy founded the
(a) Brahmo Samaj (b) Arya Samaj (c) Roy Samaj (d) Anando Samaj
4. Who was popularly known as Periyar?
(a) Rama swami Naickar (b) Sri Narayana Guru (c)Swami Vivekananda (d)Jyoti Rao

Phule

5. Commercial capital of colonial India.

(a) Calcutta (b) Madras (c) Bombay (d)Delhi
6.Which British colony became independent in 19657

(a) Singapore (b) Malaysia (c) Hongkong (d)None of these
7.Name the fort built by the British.

(a) Fort Philip (b) Fort William (c) Red Fort (d)Fort George
8.Which is known as ‘the Golden Fibre’?

(a) Jute (b) Coffee (c) Cotton (d) Tea
9.Cultivation of Grapes

(a) Sericulture (b) Viticulture (c) Horticulture (d) Pisciculture
10.The Silicon valley of India is in

(a) Chennai (b) Bengaluru (c) Hyderabad (d) Srinagar
11. plays an important role in providing justice.

(a) Judiciary (b) Police station (c) Village Panchayat (d) State Government
12. The link between criminal and court

(a) Police (b) Judge (c) Government (d) None of these
13. Under Article ____, untouchability has been abolished.

(a) 15 (b) 17 (c) 61 (d) 16

14. Who started All India Anti-untouchability League?

(a) Mahatma Gandhi  (b) Jyotiba Phule (c) DR.B.R. Ambedkar (d) Swami Vivekananda
15. The Central Railway station of Bombay is the best example of this style.

(a) Neo-classical (b) Neo- Gothic (c) Neo- Urban (d) Neo- British
16. Who founded Shantiniketan?

(a) Rabindranath Tagore (b) Mahatma Gandhi (c) Swami Vivekananda (d) Raja Rammohan

Roy
17. Which British Governor General banned Sati?
(a) William Bentinck  (b) James Mill (c) Macaulay (d) William Jone
18. Who founded Widow’s Home at Pune?
(a) Pandita Ramabai  (b) Tarabai (c) Rash Sundari Debi (d) Vidyasagar

19. In 1874 the British enacted the

(a) Widow Remarriage Act (b)Child Marriage Act(c) Right to Property Act (d) Untouchability Act
20. The Public Prosecutor is appointed by

(a) High court (b) Supreme Court (c) State Government (d) District Court
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SECTION -B

Very Short Answer Type Questions (2X4=8)

21. Name the building in Bombay which were made in neo-classical style.
22. What were the motives of British educational Policy?

23. What do you mean Subsistence farming?

24. What is untouchability?

SECTION -C

Short Answer Type Questions (3X5=15)

25. What are the laws implemented to abolish Manual Scavenging?
26. How are the Public Prosecutors appointed?
27. List out the physical and human factors of industrial location.
28. State Jyoti Rao Phule’s contribution to the Indian society.
29. What lifestyle did the Europeans adopt in hill stations?
OR
What were the recreation activities based on the European cultural tradition?

SECTION -D
Long Answer Type Questions (5x4=20)
30. Explain the Indian Caste system. How did it harm Indian society?
OR

Why did the British introduce the railways in India? How did it benefit the Indians?
31. State the geographical conditions favourable for the cultivation of rice and wheat.
32. Discuss the locational advantages for the development of the Cotton Textile Industry in
Ahmadabad.
33. What are the functions performed by the Public Prosecutor?

SECTION - E

Case Based Questions (4x3=12)

34. Read the given source and answer the questions that follow:
Martin Luther King Jr. was an American clergy man, activist, the leader in the African-American
civil rights by non violent means. He believed in the principles of Mahatma Gandhi. On 14
October 1964 he received the Nobel Peace Prize for his struggle against racial discrimination
through peaceful means. He is still remembered for the spirit of equality among the black
African-American in United States of America.

(a) Who was Martin Luther King Jr.? (1)
(b) Who inspired Martin Luther King Jr.’s non-violent approach to civil rights? (1)
(c) What was he awarded for his efforts in 19647 (1)
(d) What is he remembered for in the United States? (1)

35.Read the given source and answer the questions that follow:
Full name Thomas Babington Macaulay, was a British historian. His writings are considered
literary masterpieces of the British history. He was instrumental in introducing English and
western concepts to education in India. He was of the opinion that India is uncivilized, and it is
the duty of the British as the ruler, to make India civilized. Infact his thoughts reflected that
sense of racial arrogance towards the Indians. Whatever may have been his thoughts about the
Indians, we owe our the present English education system to the thought of Lord Macaulay.
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(a) What is the full name of Lord Macaulay? (1)
(b) How are his writings considered? (1)
(c) How is Macaulay’s opinion towards Indians? (2)

36. Read the given source and answer the questions that follow:
Farming has provided a livelihood for 60% of India's population. India has the maximum net
sown area in the world. On agriculture farm in India the yield per hectare is much smaller as
compared to the big farms in the countries like USA, Canada and Australia. It is because in
India farming is mainly of intensive subsistence type. The average size of land holdings is
about 2.4 hectares. Most of the farm work is done by either animal labour or human labour.
Farming in India is mainly depend on the monsoons. The farmers are generally poor and
illiterate. Food crops are mainly grown for their own consumption. Methods of farming
traditional with less use of quality seeds, fertilizers, machines etc. There is a lack of credit and
storage facilities and the yield per hectare also is very low. The standard of living of farmers in

India is very poor.

(a) Which type of farming is followed in India? (2)

(b) What is the season on which farming mainly depends? (1)

(c) What are the method followed in India for farming practices? (1)
SECTION - F

Map Skills Based Questions. (1x5=5)

37. (A)Label the following on the political map of the world.
(1) Cotton producers of South America.
(2) Jute producers in Asia.

(B)Label the following industries on the political map of India.
(1) Bengaluru
(2) Jamshedpur
(3) Ahmedabad
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DRAWING

Emboss Painting, Silhouette Painting, Page no. 24,25,30
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